ELEC 120
Foundations of Electrical Engineering
Spring 2007
Homework Assignment #4 – due in class Friday, Feb. 23, 2007
Problems 2.1, 2.3, 2.7, 2.14, 2.16, and 2.27 in the text.
Notes and Hints:

You may make reasonable assumptions and approximations in order to compensate for missing information, if any.  Include the details of each problem solution, including important intermediate steps.  You will not receive credit if you do not show your work.

None of the problems have answers in the back of the text book.  Hence, selected answers will be posted Tuesday or Wednesday.

Probs. 2.1 and 2.3:  Label the node voltages as va, vb, etc.  Even though both problems involve the analysis of the same circuit, the sets of node voltages you obtain will be different because the reference node in each case is different.  Of course, the values of the currents should be the same in both cases.
Prob. 2.14b:  All amplifier circuits have an apparent, or equivalent, input resistance.  It is simply the ratio of the voltage to the current obtained at the input terminals of the circuit (in parallel with the source v1 in Fig. P2.14).  To check your answer, make sure that the expression you obtain for part (b) has units of ohms.  The result for part (a) should be unitless.
Prob. 2.16:  Note that the resistors are labeled with their conductance values (in mhos or siemens), not their resistance values.
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